847 % ys] \PH-4q]

Civen the A ‘9”-9” -4y =0, £>0
has  so/? Y=A£7 Fd q 2% /mmrv"é Snehp endlen o

LSQ[’“ Vie rCc/tAqumr; Q/f G!’&Z’@F

exp (-[PWdt) 1. reduchon of ordlas

F o=
45 = g |2 Gl dechon ol ol
- exp ( § F dt) It ?(*):-%_=ﬁ_§_‘
t g (3 )?
= b Qﬂﬂ/zf/
* E/)& ot
= _L...S
*
— ot
T s : @W"“ =7 /

Wemorle -{4\11 l/¢§; Con  be | e L+ OF\Q_ The %ﬂzﬂﬁf(»( .S"a/
Y=cq¥ +c, 9, ollows I Mo coma fanchons since
Co  can be deé,uxf{"g—é e eordd ﬂ‘% 9 - ’ﬂ\ﬁ”f’ 08 “FWG’Z}-?
Some  &m b/gv‘//g i 4';\1 chorce c.:-»i[’ %J %g v We ¢ e

fwweve/ Sa:t2 ‘ﬁ,f %La oare W?g/wﬁ vp o /f!"?"t?ﬂ&f" fﬁg@pgﬁffﬁ%
L
If 2, , 3, are dwo oher linear mg/e//a-maéemzf sol

Jhon 3 (23) e GL(3, R) sk dhob

(3] = (2 B)0)  fohee (1)) # O sie
R Ry

—Hms denotes

-H'\e set O'F

AxA 1nvectibla
prakeices wiith
ceod ewtries,




E"’/?#‘ﬁ/?} 7C/7w/ Qh"“j /frrtew'/? /hcfe/aé’/yd&kvé sa/ 2 |
for Ax" = (tr/)x’ + X = O, >0
Flren Aol G t) = o ;o L g0

To begm we reed £ /7.@ e &ﬂ%f'ﬁ&’%ﬁ?éj fff.fﬁ by Aot

x" = (I+Hx'+ £x = 0

We  #ad Pl#) = [~ Ly hewee
exp (fPutiok) = exp L1~ F)ar 7
= et + dnlti]

= exp[A] exp[ﬂn(ﬂ]_ O*[mf .

Mow uee +he Rudochm of Orden 75"

‘szfff -y Wfﬂ— J’P.wf/,g»]a%
Y, (2) ®

— ot [ te*
= @ dit
Ga

= e’%f;fe‘ tf,{’- j\/c/b{ = uv *f(/cfl/
= e;f[""i'ep;t+ fg’”fc/f]

= .—i‘e*e"—i - efe—*i
= -t -

’ﬂqu; He second /z?fzcw\ré) /;’ffﬂ?ﬂgf?déﬂié’ ﬁ/ﬁ s /Z., /é’j’r—zlhp
or f ?,:)vx Praﬁer/ Féz (# = f—,’—@ ete . .

R'merk: He 4"\@%‘»& of €Y7 is gru'#c Sau{m(ﬂs'ma ‘l%narin,ca one annaéing
o\efmil} M QJ;P_C;?_{ gne _'SM ’ﬂ\ﬁ ‘&ﬂi ,3.9_Lﬂ +o a 3€nerd variohle
Coelfic 100D 'DEcl? 7 We ot wmethods £or C‘a,w-hawfw}-ef botb thet 7

5 bouwi H‘—.,J Chapler 8 will help us Bnd yuck'\ﬁr' sol™s"



